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Q.P. Code: 18CE0101 E

OR
7  An I-section as shown in Fig.19 has the following dimensions in mm 10M
units: Bottom flange = 300 x 100
Top flange = 150 x 50
Web =300 x 50

Determine mathematically the position of center of gravity of the section

—» 150 mm
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50 mm B
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o L ST

100 mm i !

t i |

|€«— 300'mm —>»|

UNIT-1V]
8  Prove the parallel axis theorem in the determination of moment of inertia of areas with ~ 10M
the help of a neat sketch.
OR ‘
9  Find the moment of inertia about the centroidal X-X and Y-Y axes of the angle section 10M
shown in Fig
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ﬁ
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UNIT-V]

10 Analyze the members of a inclined truss loaded as shown in fig. 10M

8§ kN
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Q.P. Code: 18CE0101

11

OR
A king post truss of 8 m span is loaded as shown in Fig.Find the forces in each member
of the truss and tabulate the results.

2KN

*xkEND***
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